SESSION	: 2017-2018	CLASS : BE-	EE		BRANC	:H : EN	IGINEE	RING						SEM	ESTER	/ TRIN	1ESTEF	R : N	С	MONTH OF EXA	АМ : МА	Y-2018							
ROLL NO	NAME		U EE	4207(4) -	MA1	-	-	-	-	-	-	-	-	-	-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS							
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.											
BE/25012/11	PRAGYA MEENA		U C	20.0	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	5.00								
BE/20012/11			L -	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	0.0	5.00	-							
E4207(4) IA1201(4)	: DIGITAL SIGNAL PROCESS : ENGINEERING MATHEMA : :					- - - -		:											Pawdey.										
	:					-		:		Controller of Examinations																			

Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-CS-NONCOLLEGIATE / (SP/18) / 2017-2018
By the order of Examination committee , the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of MAY-2018
Date : JULY-2018

SESSION : 20			BE CS	-	BRA	NCH :	ENG	INEER	ING	S	EME	STEI	R / TF	RIME	STEI	R : NON	ICOL	LEGL		IONTH OF		MAY- 2018
ROLL NO	NAME	U L	(.	2001 3) 4205 3)	(· EE	3201 4) 2201 4)	(MA	4205 3) .1201 4)	EE2 (4		MA2 (4		CS5 (4			3029 3)		5009 3) -	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		H		PT.					GR.	PT.	<u> </u>			PT.	GR.	PT.	GR.	PT.				
BE/25016/12	MUDIT AGARWAL	U L	C -	- 15.0	F -	0.0	F C	0.0	-	-	F -	0.0	-	-	-	-	-	-	35.0	18.0	1.94	-
BE/25107/12	MADAN MOHAN JHA	- 20.0	- C	-	-	-	-	-	F	0.0	С	15.0	С	15.0	70.0	18.0	3.89	-				
	GULSHAN		-	-		20.0		20.0	-	-	-	-	-	-	-	-	-	-				
BE/25187/12		L	C	- 15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	-
EC3201(4) : EC4205(3) : EE2201(4) : MA2201(4) : CS5101(4) : CS8029(3) : PE6009(3) :	PRINCIPLES OF ENGINEERING DIGITAL ELEC' MICROPROCES MICROCONTRO PRINCIPLES OF ENGINEERING ADVANCED EN MATHEMATICS FORMAL LANG THEORY PARALLEL & D ENGINEERING Institute is not res	FRO SO DLI EI GI GU S U A IST EC	ONIC R AN LER LECT NEEF AGE & CRIBI	S ND RICA RING & AU WTED MY	L FOM	TEMS	EH M - - - - -	C4205(22201(A1201	(4) (4)	: MI : PR : EN : EN : :	sclain	CON PLES EERI EERI	TRO S OF I NG NG N	LLEI ELEC 1ATI	R CTRIO HEML	ATICS				Part ontroller of		

for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (SP/18) / 2017-2018

By the order of Examination committee , the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of MAY-2018

Date : JULY-2018

SESSION	: 2017-2018 CLASS : BE-F	ΈE		BRAN	ICH :	ENGIN	EERIN	IG			SI	EMESTI	ER / TR	IMESTE	ER : 1	NONCOL	LEGIA	ГЕ	MON	NTH OF EXA	М : М	AY-2018
ROLL NO	NAME	U L		203(3) 201(4)		207(4) 201(3)		203(3) 205(4)		205(4) 207(3)		221(3) 201(3)		201(4) 201(3)		1151(3) 1131(3)	EC20	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25149/12	AWADHESH KUMAR	U	С	15.0	F	0.0	С	15.0	С	20.0	С	15.0	С	20.0	С	15.0	-	-	100.0	24.0	4.17	
BE/25149/12	AWADHESH KUMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	100.0	24.0	4.17	-
BE/25188/12	AMIT KUMAR	U	-	-	-	-	-	-	С	20.0	-	-	-	-	С	15.0	-	-	35.0	7.0	5.00	
BE/23188/12	AMIT KUMAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	35.0	7.0	5.00	-
BE/25195/12	DEEP ANMOL SINGH SODHI	U	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	С	15.0	150.0	30.0	5.00	
BE/25195/12	DEEP ANMOL SINGH SODHI	L	С	20.0	С	15.0	С	20.0	С	15.0	С	15.0	С	15.0	С	15.0	-	-	130.0	30.0	3.00	-
CH2203(3) EE4207(4) EE6203(3)	: ENVIRONMENTAL SCIENCE : DIGITAL SIGNAL PROCESSING : POWER SYSTEM - II					EE3	201(4) 201(3) 205(4)		: IN		JCTIO			THEOR	RΥ) An		

EE6203(3) : POWER SYSTEM - II EE3205(4) EE6205(4) : INDUSTRIAL DRIVES & CONTROL EE3207(3) : ELECTRICAL ENERGY GENERATION & CONTROL : UTILIZATION OF ELECTRICAL POWER

- EE8221(3) MA1201(4) : ENGINEERING MATHEMATICS
- MEE1151(3) : ADVANCED POWER ELECTRONICS

EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING EE4201(3) EE6201(3)

MSH1131(3)

-

: ELECTRICAL MEASUREMENT & INSTRUMENTATION : CONTROL THEORY

: PRINCIPLES OF MANAGEMENT

Disclaimer

Controller of Examinations

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original Disclaimer grade card. Original Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (SP/18) / 2017-2018

: DIGITAL SIGNAL PROCESSING

: POWER SYSTEM - I : ENGINEERING MATHEMATICS

: ENGINEERING ELECTROMAGNETICS

EE4207(4)

EE4209(4)

EE5207(3)

MA1201(4)

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of MAY-2018

Date : JULY-2018

SESSION	: 2017-2018 CLASS : BE-E	E		BRANC	СН :	ENGIN	EERIN	3			SEM	/IESTE	R / TRI	MESTE	ER :	NONCO	DLLEGIA	ATE	МО	NTH OF EXA	.M : M	AY-2018
ROLL NO	NAME	U L		201(4) 201(3)	CS23	301(4) -	EE32	01(3) -	EE42	01(3)	EE42	07(4)	EE42	-	EE52	-	MA12	.01(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DE/25107/12		U	С	20.0	С	20.0	-	-	F	0.0	F	0.0	С	20.0	С	15.0	F	0.0	00.0	20.0	2.10	
BE/25197/12	RANJAN YADAV	L	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	90.0	29.0	3.10	-
AM1201(4)	: ENGINEERING MECHANICS					EE3	201(3)		: INT	RODU	CTION	TO SY	STEM	THEOF	RY							
CS2301(4) EE3201(3)	: FUNDAMENTALS OF DATA STRUC : INTRODUCTION TO SYSTEM THE																					
EE3201(3) EE4201(3)	: ELECTRICAL MEASUREMENT & I		ITATION	V	-			:										<u> </u>	tander.	7.		

Controller of Examinations

Disclaimer

:

-

-

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

5	initiation committee , the following is the results : 2017-2018 CLASS : BE-		E-EC - IN		ICH :				onui or i	WIA I -20		MESTE	R / TRIN		Date :			F	MC	ONTH OF EXA	м∙м	AV-2018
		U	BT30		CH14		CH22		EC32	01(4)	-	05(4)	EE42		EE42		EE42		TOTAL CREDIT	TOTAL		
ROLL NO	NAME	EE52 GR.	07(3) PT.	EE62 GR.	03(3) PT.	EE62 GR.	05(4) PT.	MA12 GR.	201(4) PT.	MA22 GR.	201(4) PT.	PH12 GR.	01(4) PT.	GR.	PT.	POINTS	CREDITS	SGPA	REMARKS			
BE/25038/13	ADITI YADAV	U L	-	-	-	-	-	-	-	-	- F	- 0.0	- F	- 0.0	-	-	-	-	00.0	8.0	0.00	-
BT3021(3) CH1401(3) CH2203(3) EC3201(4) EE4203(3) EE4203(3) EE4207(4) EE4209(4)	: BIOLOGICAL SCIENCE : ENGINEERING CHEMISTRY : ENVIRONMENTAL SCIENCE : DIGITAL ELECTRONICS : NETWORK THEORY : ELECTRICAL MACHINE I : DIGITAL SIGNAL PROCESSING : ENGINEERING ELECTROMAGNET	CS				EE52 EE62 EE62 MA1 MA2	205(4) 207(3) 203(3) 205(4) 201(4) 2201(4) 201(4)		: POV : POV : IND : ENC : AD' : PHY	VER SY VER SY USTRL GINEER VANCE	ING MA	- I II VES & C ATHEM	ONTRO ATICS G MAT		ICS				Contro	Pander oller of Examin	ations	

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

	1 / JPP / BITIC / JAIPUR / BCA-NC / (SP/18) / 2 ion committee , the following is the result of BC			er held in	the mo	onth of	MAY-2	018					Date :	JUL	Y-2018							
SESSION :	2017-2018 CLASS : BCA		B	RANCH	: CO	MPUT	ER SCI	ENCE						SEN	1ESTE	R / TRI	MEST	ER :	NC I	MONTH OF EXA	AM : MA	AY-2018
ROLL NO	NAME	U L	BCA10	001(4)		-		-			-			-	-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BCA/25020/13	KRITENDRA SINGH	U	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	4.0	0.00	
BCA/23020/13	KRITENDKA SINOH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	4.0	0.00	-
BCA1001(4)	MATHEMATICS-I				-			:														
- : - : - :			:											\langle	Pande	¥.						
- : - :					-			:											С	ontroller of Exan	inations	
									Disclai	ner												

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (SP/18) / 2017-2018 By the order of Examination committee , the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of MAY-2018

Date : JULY-2018

SESSION	: 2017-2018 CLASS : BE-E	E		BRAN	ICH :	ENGIN	EERING	3			S	EMESTE	R / TRI	MESTER	. : N	ONCOLI	LEGIAT	ſΈ	MC	ONTH OF EXA	М : М	AY-2018
ROLL NO	NAME	U	BT30			401(3)		203(3)		201(4)		205(4)		203(3)		207(4)	EE42	209(4)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
ROLLING	I VI LIVIL		EE52	u r í		207(3)		203(3)		205(4)		201(4)		201(4)		201(4)		-	POINTS	CREDITS	SOL	KEWI KKS
	1 1		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25071/13	RAHUL KHATRI	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	-
		L	-	-	-	-	-	-	-	-	С	20.0	-	-	-	-	-	-				
BE/25078/13	KULDEEP MEENA	U	-	-	С	15.0	-	-	-	-	-	-	-	-	C	20.0	-	-	75.0	15.0	5.00	
BE/25078/15	KULDEEP MEENA	L	-	-	-	-	-	-	-	-	С	20.0	-	-	C	20.0	-	-	/3.0	15.0	3.00	-
DEVOSIOCIO		U	-	-	-	-	-	-	С	20.0	-	-	-	-	-	-	-	-				
BE/25106/13	AMIT KUMAR BHARTI	L	-	-	С	15.0	-	-	С	20.0	-	-	-	-	-	-	-	-	55.0	11.0	5.00	-
		U	-	-	- 1	-	С	15.0	С	20.0	-	-	-	-	С	20.0	C	20.0				
BE/25111/13	CHIRANJEEV KOCH	L	-	-	-	-	С	15.0	-	-	С	20.0	-	-	-	-	-	-	110.0	22.0	5.00	-
		U	-	-	-	-	-	-	-	-	С	20.0	С	15.0	-	-	F	0.0				
BE/25134/13	ANKAJ KUMAR	L	F	0.0	F	0.0	-	-	F	0.0	С	20.0	С	20.0	-	-	-	-	75.0	30.0	2.50	-
BT3021(3) CH1401(3) CH2203(3) EC3201(4) EE3205(4) EE4203(3) EE4207(4) EE4207(4)	: BIOLOGICAL SCIENCE : ENGINEERING CHEMISTRY : ENVIRONMENTAL SCIENCE : DIGITAL ELECTRONICS : NETWORK THEORY : ELECTRICAL MACHINE I : DIGITAL SIGNAL PROCESSING : ENGINEERING ELECTROMAGNETIC	EE5205(4) : POWER ELECTRONICS EE5207(3) : POWER SYSTEM - I EE6203(3) : POWER SYSTEM - I EE6205(4) : INDUSTRIAL DRIVES & CONTROL MA1201(4) : ENGINEERING MATHEMATICS MA2201(4) : ADVANCED ENGINEERING MATHEMATICS G PH1201(4) : PHYSICS Controller of Examinations																				

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer